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*xx%% \Weal th-Lab Strategy - Trade on Ex-Div - 3/12/2018 ****x*

using System

using System Col | ections. Generic;
usi ng System Text;

using System Draw ng;

usi ng Weal t hLab;

using Weal thLab. Indicators;

using Community.Indicators;

usi ng TASClI ndi cators;

usi ng Communi ty. Conponents;

nanespace Wal thLab. Strategi es

{
public class MyStrategy : WalthScript

{

Strat egyPar anet er ESSval ;
Strat egyParameter _daysafterdiv;
public MyStrategy()

{
ESSval = CreateParaneter ("ESS Value", 8, 1, 10, 1);

_daysafterdiv = CreateParaneter ("Days After", 3, 2, 5, 1);
}

protected override void Execute()
{
Cl ear Debug ();
Fundanental [tem fi;
Fundanental [tem fe;

i nt barsToNext Event = -1;
int dividendbar = -1;
int earningsbar = -1;

Dat aSeri es ESSSeries = Fundanental DataSeries (Bars. Synbol ,
equity summary score");

ESSSeri es. Description = "ESS";

Bars. Cache[ "ESS"] = ESSSeri es;

Chart Pane ESSPane = CreatePane( 20, true, true );

Pl ot Seri es( ESSPane, ESSSeries, Color.Blue, WalthLab.
LineStyle. Solid, 2 );

fi = GetNextFundanmental Item(1l, Bars.Synbol, "dividend");
fe = GetNext Fundamental Item(1, Bars.Symbol, "earnings per
share");
int start = fe.Bar;
for(int bar = _start; bar < Bars.Count; bar ++)
{
/'l Determne the nunber of bars until the next event
Print Debug (" Synbol "+Bars. Synbol );
Print Debug("Date "+Date[bar]);
try
{
fi = GetNextFundanental |tem(bar, Bars. Synbol,
di vi dend" ) ;
Print Debug("Ex Dividend Date " + fi.Date);
di vi dendbar = fi.Bar;
}
catch
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*xx%% \Weal th-Lab Strategy - Trade on Ex-Div - 3/12/2018 ****x*
{

}
try
{

di vi dendbar = -1;

fe = GetNext Fundanental |tem(bar, Bars. Synbol ,
earni ngs per share");
Print Debug("Earnings Date " + fe.Date);

ear ni ngsbar = fe. Bar;
}
catch
{
ear ni ngshar = -1;
}
bar sToNext Event = 0;
if ( dividendbar != -1 && earningsbar !'= -1)
bar sToNext Event = earni ngsbar - dividendbar ;
if (IsLastPositionActive)
{
Position p = LastPosition;
Print Debug (" Earni ngs Bar "+earni ngsbar );
if (earningsbar == bar + 2) // Exit on day before
ear ni ngs
{
Sel | AtCl ose(bar + 1, p, "Ex-div");
}
el se
{
double Stop = p.EntryPrice * (1 - 15.00 / 100.0 );
Sel | At Stop(bar + 1, p, Stop, "Stop Loss");
}
}
el se
{
if (dividendbar == bar + 1 && barsToNext Event
ESSSeri es[bar] >= ESSval . Val ue )
{
BuyAt Mar ket (bar + _daysafterdiv. Valuelnt);
}
}
}
}
}



